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Question 1- Find the compound interest on a sum of

at 10% per annum for 2 years.

T 1- 18,000 T Y TR U 2 91 ok fAT 10% Ifd a9 sht a2 8

Tk g, SATST JT hiteT|

s 18,000

yud / 5 1{2(1" a 30
CI = 'O“L(Oﬂox(o A.Rs 4480
21 100§ Reatso
CT.= 2)s C.Rs 7780
/ %[&000 B-Rs 3780

E. None of these
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Question 2- Find the compound interest on a sum of Rs 20,000

20% per annum for 3 years.
Ywt,=201 2042 i
A 7‘3%0 T4 2- 20,000 TG 3T ART I 3 [ 3 7T 20% Tid a9 6 X E

1 QT'/;(QJB) skl SATST 1A hITSTT)
U C]—:_(Q/&o/ OJ(Q()({)(F¢

X cJRo .
Wﬂ: L“HQN Yo = V4560 A Rs 14560
30 B. Rs 23460
C.Rs 33560
D.Rs 22560

E. None of these
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Question 3- Find the compound interest on a sum of Rs 8000 at

&y@i@“\ 30% per annum for 1 year when interest compounded half

T 3- 8000 T hl TRT I 1 I o foTT 30% Il a9 shi ST H
TIehdl (<G, SITST 1A hiTsT STel 4TSt 3TelaTiNeh &Y & G il B

R:%:IS/Q (= 32/25‘}4\%1@52’%

AR 2580
& (1 .
(I-~ IS‘HS~H6\)(§_ g&x B.Rs 1500
|09
e “3’{ C.Rs 3480
5225 / 33&22? D.Rs 3580
Q

E. None of these

,’uum.;‘" 2 s '1 s 37'3&\




SBI CLERK 2023 (3TIIR o )

Question 4- Find the compound interest on a sum of Rs 12,000

@ R°u ’—2(—6 at 20% per annum fs when interest compounded
y ; (ucy

=Y T5 4- 12 ooomﬁa%rr&rqrwﬁﬁés%mo%srﬁraéaﬁaﬁ

67: _@r) <Ishdllg, SATST T ShiTSTa, STel SATST THTR] ZATHTC SRS fohaT STl
o} ) !FD %l &OOO :’%\2\006
=3

3 ol :(J?*' 30 391.5

- 4| CI: \QQXE B.Rs 2219.5
io N - C.Rs 1861.5
=2 < 3185
®OQQ &‘ }: \&3[5 % D.Rs 2331.5

\J}ZQ | “E-None of these
1§
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Question 5- There 1s 80% increase on a certain sum of money

—_—

in 4 years at a certain rate of simple interest. Find the

compound 1nterest on a sum of Rs 5,000 at)same rate interest

fof 2 years.

T 5- GTEUT SIS ohl Ueh (19 &L YT 4 N1 H Ueh AT emieT
T 80% 3hT Ifg Bt 21 5,000 T T T 9L 2 W ok foTT THH

SIS G IR Ak, SATST T ohi o1l A.Rs 1100
BRs 2200

C.Rs 3300

30 D.Rs 4400

E. None of these
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Question 6- The difference between compound interest and simple

interest at 30% per annum for 2 years is Rs 7200. Find the

principal.

T 6- 23@?%%@9%3& h! L TAshdllg, SATST ST HTRT
SITST oh o1 Rt A€ 7200 9 B| TSiferet a1 uat e

CT = ¢3 Dig= Ci‘/qz?“% —ARs 80000
: | —oq 0 B. Rs 70000
P\) 0 o7 dox (00 C.Rs 60000
s
= oo D.Rs 90000
E. None of these
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Question 7- The difference between compound interest and

simple interest at 20% per annum for 3 years 1s R$ 3840). Find
the principal.
T4 7- 20% Jid 9N Al G H 3 AT b [T skl A AN
T SIATST o (1< T 37dT 3840 T 2 TTE T Il Y|
ST = 6o /
=
CT = 19§ ]w -89 =X 3840 A.Rs 2000
3&11 B.Rs 4000
Q Q C.Rs 5000
Qos —
( Ye &QX(OQ@, %o, D-Rs 3000
B _ENone of these
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\O ¢ Question 8- The SI on a certain sum of money for 3 year at 8%

pa 1s half the CI on Rs{ 16000 for 2 year at 10% pa. Find the

@ sum placed on simple interest?
T 8- Weh [ GRITRT OX 3 9N o TeAT 8% Uil I shl S &

Y e, ATETT SATST 10% S 99 hl &L © 2 9 o o1l 16000 T4
Bﬁ% ﬂ(\): Kl\zééﬂé@oﬂshollug SITST <hT STTEIT B| TTEROT SATST YT [T 15 TTRT T Shi T ?

A T+ \o@ A.Rs 5000
I M@ B. Rs 4000
e C.Rs 3000

30 —PRs 7000

E. None of these
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Question 9- A person divided his money in two parts such that

A.10:11 WK \ simple interest on first part at 20% per annum for 2 years is

B.11:10— equal to the compound interest on other part with same rate and
C.12:11 same time. In which ratio man divided his money.
D.13:!1 Ueh gk 319 & okl & AT H 39 Yoh, frHTiSId st 8 foh g

E. None of these WWZHH"?%]%M 20% Jfd a9 hl ST " SITST THH g 3R
G GH o |1 3= I 0 =I5kl SATST § sl 2 foher 3ar

@ C T AT 319 & ol fwTISTd T

. HO*A }I\DQ‘AO; ”l/o
CI.: L[sz {0
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Question 10- If compound interest occurred on a sum of Rs 9680

2. O -rs 1S R§ 1840, Then find rate of interest per annum.

/ T4 10- A 2 A9 H 9680 T 3hT TR I =shdlg SATS AT & Al

1840 9 BT &1 7 Tfc a9 sA1sT <X 1 hifsi|
O p A A= -1t
%6&% -' ”52;5 /B’—ﬂ-ojz
=2 ee | po ) kheo (= Ry
ﬁl e (30 Ps132y
\| - o ~ EO,j_J/L E:Mf‘hc“.
= —
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@ Joo ! 560 Question 11-Ajay has some amount of money and she invested the

A.11.11% money in two schemes A and B in the ratio of 2 : 5 for 2 years,
B.12.5% scheme A offers 30% pa compound interest and scheme B offers 15%
C.9.09% pa Simple interes@me interest earned from both
D.13.2% the schemes 1s Rs.2160. How much was invested in scheme B?

E. None of thes€ 31519 o UTH e EFUNRT & 37 6 & A1 A 31X B # 2 It o fog
g‘ja/ V\g ° 2: 5 o LA H G T (AT oRAT, AT A 30% STk =I5kl [, SIS
a%¢ O/e%ts%qm AT & ST ASHT B 15% T oS HTEmRuT sA1<7 Y& ] 81 S0
= (3QS5n  FSHIHAT ¥ ST SATST o sfiel b1 ST 6880 &9 8| ASHT B H foeT

_ = 2|60
= R =i, TR
1=37(8, = Yoo §
i e

L ATIK . ¢ ‘
/MJ ™ 91 . P . I\ f. I 4 I:b 'i» . I
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3 ’(«10% Question 14- Find the amount on Rs 36000 in 2 years
0

when the successive rate of interest on successive years
{0°/o

@ ]0‘/‘/_1 R0 =z is 10% and &% respectively:

0 T 14- 2 99T H 360006‘1’&‘1’(1‘@%%3%’& STl ShiHh
’]D F YT YT SITST shl ShiHeh ST ShHST: 10% ﬁ?%f%%:
O |
5 5 é 30 =< 3600, A 11.11%
S — | =<7 B.12.5%
éé 66 ~ (Yo XGE C.9.09%
:;3 ZOXG DI RIWAZ

= \H“S )0 QL E. None of these







https://t.me/mathbytarunsirmepl



